d'A
d'A
dA

A

d

son
son
ot
514

son
son

Chan
Chan
Chan
Chan

-
da
da
da

Wayne Shanklin
Elaborazione di Giuseppe Cappotto

da

da

CHANSON D' AMOUR

da
da

da
a

Ra
p
Ra

Con swing
O

k> 3
k> 3
k> 3
x

b
b
b
v

0
bl ORES 1

p
[ £ LAY /)
SV
p
[ £ LAY /)
SV
p
[ £ LAY /)
:gj
7

\

Soprani
Contralti
Tenori
Bassi

| I8 b IS
Aﬂ N 2 4& 5 ol = o
e S Ty S Wlls .
Ly LS LS LS
> > >
Q. = e = Q| . ® Q|
S Ny o S
~t ~t At At

©O
da
&
da
O

da
da
da
da

da da
da da
da da
da da

Ra
Ra
Ra
Ra

en - core.

play

heart
heart
heart

my  heart

my
my
my

Do
in
in
in
in

U

Here
Here
Here
Here

O

A
W)

mour




da
da
da

da ra
da ra
da da

da ra
da ra
Ra

da ra
da ra

Da
) mf‘_
Da
mour
- mour

N
A

d
A

d

Chan son
Chan-son

P

mour
mour
/b2
V)=
mour,
mour,

and  more!
and  more!

I I
an more

ge
i I
ahﬂ)more
d'A
dA -
d'A

son
son
son

=

more
L. D=

more
more
more

son

Chan
mf’

Chan

mf

da
da
Chan

hdl OO
hdl OO

o)

]
|
|
|
S
e
>
Doo
[ ]
[
Doo
i I
Doo
} . ‘(
chan-son_
|
chan -son_
~
l I
chan-son_
~
i i
I

o

, ,
e < el T || 7 H 7 1] 7 o
= = £ QT - QA
\jfm —1 5 e S JN S 2 ‘g 2 H
L ' ' < [ | | < <
e .2 B 2 \= 2 ol < s el = [ BN
e = O O O
4 S
? ! o o ~ ~ ~ T
e e = lfmmy & = L N L L
/ ‘j 5 —q 5 N B d
1. L S| e
v 2 N2 N S [ 1 1 14%
ﬂﬂ S “iil
L ——— [S) — (s]
= = N o=
ﬂ_u = —1 = L =
o o d— o
ELIrSY - [8) % 1)
ST e & VL JEE i
o © S
o e ol L
{10 = Ilv o T ® ] ]
11- 3 ﬂﬂi S NS S
%H.a .S |7 s ..vgm -._lum

R 5. TN = oLl = z
SNMT 2w 2NN T2 T =
e = e s e (e S

5 LS a_m
2 .2 g
5 LS LS
2 .2 g xS
S LIS LS
2 e ol

da

____ chan-son

da Chan- son

da

Ra da da

hear

|

time

Each

Ahl



T EEEE 11T EEEE EEEE T T < [— [— [— [—
#ﬁ
= g
i }yav Qll Aa\} S 3
\ , : I ] ] ] ]
1 ([ 1 = i i 1 S o = i ~e e ~t
M : Ths wz sl g
i 1 (=} o ' ' '
Nl E i -2 S = TR i e 2
IﬂnW =] - =1 | =
. . . . S m S s SERE & | TN & O m
BEE | << mre < (Y < 1l < ] W..v [ L2 W..v
e el et | O 1T < B . oy [ = BEEE 111 EEE NERR '
5 5 5 A
: _ _ . RILIE
Q||| u (&) o o =]
=¥ = = = o
_—| (=) _ (=) (=) L+ 7
| r.v - [8) % r.»
S ST EX S o el 2 DD o
. . . [ g
TR s R 5 s\ g g 2 ||fe3 (e 3 2 = <
s @ 1T = & 1 = g £ £ TN L—re|| =
111 111 BEER BEER 1T 1T T . [TT] o
. Hig < Hy < < < "
ol = S AR | o
o = o -
a = e s el s s g 3 ¢ 2 el 3 olll 3
OB R ez = = < g & =
1S  JR= YRR SO T T HH HH
S S S . . . .
el | S on il
( S ( n,_ e = e = o = T =
= \I.N JJ I m el el el el
= © =
e EYN S ! 9 = 2~ L = ~
] © & L L AR L L © L Wl 5 e 5 o/ 5 M| S
= = s 3 L m L m q m m
o\l = %2 sy 2 8 4. 5 £ Jﬂw —1 S
| 7 L 7 L. | . |
Ay Ay A = “e 5 el 5 = L) _ L) [SHl
i ] S ©) S il =
N| < _ LIRS
oy R o~ 1 o~ 5
A = A S =
R i B N 2 e " T
I . 4 z i B & il
L = A~ [ 10 ] A~ EEEE | 1] \||| Ll
= & ,,
7 S s
_ < e 3
= 1
g © <
) © SIhES
o
M © 1 N Aal\ =
= N 2
] . =
= WSlem 2
§ S




